AN EXEESHHESE
(B)4F0 248 48 1R (X)4$ 0 34 3A31R

BEZ5E—#KX

(AL [)
BEHB WERERE (A) ATEERE (B) HEL (A) - (B)
EEEAY — v REFERING 221,264,161 100,662,688 120,601,473
Iy REREFHSRE 130,000 30,000,000 29,870,000
*f‘ 75 | € OO g 1,379,074 1,379,074
E P— U RIEBNIR LR FF (1) 222,773,235 130,662,688 92,110,547
E | AGE 170,099,800 62,451,486 107,648,314
% EEE 36,248,887 10,291,517 25,957,370
% B E5E 18,653,205 6,392,122 12,261,083
o A Bm R B 17,280,505 4,625,184 12,655,321
B | E MBS LRI & B 3,796,103 3,796,103
P—ERIEENE R (2) 238,486,294 83,760,309 154,725,985
P — B R{REEREFE ) =(D-(2) A15,713,059 46,902,379 A\62,615,438
ZECF B ER Y AU 1,212 53 1,159
4{ 5 F OO Y — ¥ RIEB NG 19,254,228 9,347,114 9,907,114
e
% Y — U RTEESMREE F (4) 19,255,440 9,347,167 9,908,273
B |ZHFE 3,118,294 1,062,849 2,055,445
% % FOMOY — v RIEBHNEH 878,165 331,767 546,398
V8|
D
il I — ERIEENNE A 6) 3,996,459 1,394,616 2,601,843
Y— PR EEMERER (6)=(4)-(5) 15,258,981 7,952,551 7,306,430
R EBERR (7)=(3)+(6) A\454,078 54,854,930 /55,309,008
MR &S 199,414,000 48,158,000 151,256,000
Iz
%
e
fg RN 2E 7 (8) 199,414,000 48,158,000 151,256,000
B HEAREHANEE 30,000,000 30,000,000
2 » EEMB &SRB &R 199,414,000 48,158,000 151,256,000
FIB m
5% R 5t (9) 199,414,000 78,158,000 121,256,000
KEBIHEIBZERR (10)=(8) - (9) 0 30,000,000 30,000,000
YEEEEEER (1) =(1+010) A\454,078 24,854,930 25,309,008
AT RS Bh R AR (12) 24,854,930 24,854,930
M| YRR BN R ERE (13)=(11) +(12) 24,400,852 24,854,930 A\454,078
% EAS B (14)
g | € P OB R (15)
g ZF D OFESL &R EE (16)
7=
|
)
R
R AR ARE B R 4A (17) = (13) + (14) +(15) - (16) 24,400,852 24,854,930 A454,078




HEEBN

%

3

(B)SF 242 48 1B (E)4F 34 3A31H°

BBEE _HK

(BEAT: )
ghEM B HEmaER NIEEE A&t
EERELY— R EBEINE 219,734,161 1,530,000 221,264,161
" REREFH SR 130,000 130,000
J?L 3% | T OISR 1,379,074 1,379,074
i P— B REBREEE (D 221,243,235 1,530,000 222,773,235
= (A AGE 170,099,800 170,099,800
B Exw 35,517,913 730,974 36,248,887
ﬁ B ELE 18,071,015 582,190 18,653,205
o BB 17,280,505 17,280,505
B |E B R RN & B AR 3,796,103 3,796,103
H— v RIEENE S (2) 237,173,130 1,313,164 238,486,294
P — R IEEEEELE (3)=(1)-(2) 15,929,895 216,836 A15,713,059
SZERER Y &N 1,212 1,212
4{ I Z DD Y — B RIEBIA N 19,254,228 19,254,228
P [ \
% Y — ERATEESMER FF (4) 19,255,440 19,255,440
By | ZIFE 3,118,294 3,118,294
% g EOMOF — E R EBAR 878,165 878,165
AN
)
i +— bt R IEBII R it (5) 3,996,459 3,996,459
P — R IEBNS IR ERE (6) = (4) - (5) 15,258,981 15,258,981
BEEBERE(T)=03)+(6) A670,914 216,836 454,078
MEREHEMBh &N 199,414,000 199,414,000
5 BERXRSMBASING /6,378,483 1,382,582 A4,995,901
=
¥
fé} BRI AR F (8) 193,035,517 1,382,582 194,418,099
% HEMBSSHE LS IIA 199,414,000 199,414,000
2 # BEXSHBALSER /\6,525,901 1,530,000 A\4,995,901
il =
BRI B RE09) 192,888,099 1,530,000 194,418,099
R R HERESE (10)=(8)-(9) 147,418 A147,418 0
YEEEMBERE (1D =(7)+10) /523,496 69,418 A454,078
Al EE B R EEE (12) 23,448,376 1,406,554 24,854,930
|4 H R AR R BB A (13)=(11) + (12) 22,924,880 1,475,972 24,400,852
% EARSTAEE (14)
g | € DA OB & B ER (15)
ﬁ%@%@ﬁﬁ%ﬁﬁﬁﬂm
=
i
D
R
R AR ATE BN IR ERA (17) = (13) + (14) + (15) - (16) 22,924,880 1,475,972 24,400,852




BIEEHEKX
FEFHNRE

(B)Sf 24 48 1B ()45 34 3A31A

(BAr: M)
BEM A PERER S| T 2= EANAFE
BEERAY — A EFTENE 221,264,161
Iy REREFHSINE 130,000
?L 35| € ORDIREE 1,379,074
E Y— EREBREE (1) 222,773,235
w(ANGE 170,099,800
% EEE 36,248,887
W B FER 18,653,205
o | B ERE 17,280,505
B | EEMSSENE SRR A\3,796,103
- REBE A (2) 238,486,294
P—EREEEBEEG)=(1)-(2) A15,713,059
ZEF) BB Y &I 1,212
4{ " Z OOV — v RIREIFMR L 19,254,228
P i
y;g- Y — R EBSMR A F (4) 19,255,440
B TR 3,118,294
g g £ OOV — EREBAR 878,165
% |
D
i - REMNE R 6) 3,996,459
P — B RIEBNSL HEIRERE (6) = (4) - (5) 15,258,981
REBREE(1)=03)+(@6) A\454,078
MR S MBh &I 199,414,000
5 FERX S EBRASNGE 4,995,901 0
%
¥
fé} BRI 2F (8) 4,995,901 199,414,000
| | EE AR & E A BN SRR AR 199,414,000
D\, | BEXSERALSER 4,995,901 0
| B
H
%5518 R 9) 4,995,901 199,414,000
R BERE (10)=(8)-(9) 0 0
LEEEEEERE 1D =(1)+010) 0 A\454,078
ATE AR BB ERE (12) 24,854,930
WU R AR R B A (13) = (1) + (12) 0 24,400,852
% EARSTAEE (14)
)| T P ORI & U ER (15)
g%@moﬁﬁ@ﬁﬁﬁﬂw
=
sl
%)
il
R B AR B B 4R (17) = (13) + (14) + (15) - (16) 0 24,400,852




